900 Long Lake Road, Suite 200 St. Paul, Minnesota 55112 United States www.ghd.com



Our ref: 11222418-LTR-101

April 25, 2023

Mr. Phil Richard Wisconsin Department of Natural Resources 875 South 4th Avenue Park Falls, Wisconsin 54552

Monthly Status Update – March 2023 Penta Wood Products Superfund Site Siren, Wisconsin WDNR BRRTS Activity #02-07-000532

Dear Phil:

GHD Services Inc. (GHD) has prepared this monthly status update for the period of March 2023 for the Penta Wood Products Superfund Site (Site). The project budget and costs are summarized in the following Table 1. All problems, resolutions, and/or recommended solutions with an assessment of data collected during this period will be provided in the Semiannual Report – January through June 2023. The following is a brief summary of the work completed.

1. Task 03.01 Site Safety Plan Preparation

No work was performed for this task during this period.

2. Task 03.02 Housekeeping and Grounds Keeping

No work was performed for this task during this period.

3. Task 03.03 Semiannual Groundwater/LNAPL Level Monitoring

- No work was performed for this task during this period.

4. Task 03.04 Semiannual Groundwater Well Sampling

- The April 2023 semiannual groundwater well sampling event was coordinated and scheduled.

→ The Power of Commitment

5. Task 03.05 Semiannual Residential Well Sampling

- The April 2023 semiannual residential well sampling event was coordinated and scheduled.

6. Task 03.06 Semiannual Reporting

No work was performed for this task during this period.

7. Task 03.07 Monthly Reporting

- Periodic project updates were provided to WDNR.
- The project budget was updated.
- The Monthly Status Update February 2023 was submitted on March 16, 2023.

8. Task 03.08 Regulatory Communications

- Conference calls were held on March 15 and 30, 2023 between USEPA, WDNR, and GHD to discuss the cooperative agreement amendment, additional site characterization, and Quality Assurance Project Plan.
- A revised USEPA/WDNR Cooperative Agreement Work Plan and Cost Estimate Amendment was submitted on March 27, 2023.

9. Task 03.09 Additional work

No work was performed for this task during this period.

Should you have questions, please do not hesitate to contact us.

Regards,

tink

Tim Ree Project Manager / Project Engineer

+1 612 524-6866 tim.ree@ghd.com

TR/lg/LTR-101

Encl.

Copy to: Celine Wysgalla, USEPA (via email) Judy Fassbender, WDNR Madison (via email) Chris Saari, WDNR Ashland (via email) Jacob Sedivy, WDNR Spooner (via email)

Table 1

2023 Scope of Work and Budget Summary Penta Wood Products Superfund Site Siren, Wisconsin

GHD Project Number 11222418 Task 05 - January 1, 2023 - December 31, 2023

			:		Scope of W	ork								
			and Budget					Project Costs						
Task	Description	Unit	Estimated Quantity	Unit Cost		Budget		Current Invoice Cost 4/1/2023		Previous Invoiced Cost		Total Invoiced Cost (through 4/1/2023)	Budget Remaining (through 4/1/2023)	
1	Site safety plan preparation	Plan	1	\$	1,783.00	\$	1,783.00	\$	-	\$	-	\$ -	\$	1,783.0
2	Housekeeping and grounds keeping	Time and materials	1	\$	35,043.40	\$	35,043.40	\$	-	\$	-	\$ -	\$	35,043.40
3	Semiannual groundwater/LNAPL level monitoring	Event	2	\$	5,440.40	\$	10,880.80	\$	-	\$	-	\$ -	\$	10,880.80
4	Semiannual groundwater well sampling	Event	2	\$	46,334.00	\$	92,668.00	\$	677.64	\$	-	\$ 677.64	\$	91,990.36
5	Semiannual residential well sampling	Event	2	\$	9,988.20	\$	19,976.40	\$	175.50	\$	-	\$ 175.50	\$	19,800.90
6	Semiannual reporting	Report	2	\$	10,812.00	\$	21,624.00	\$	-	\$	-	\$-	\$	21,624.00
7	Monthly reporting	Report	12	\$	2,062.75	\$	24,753.00	\$	1,460.26	\$	-	\$ 1,460.26	\$	23,292.74
8	Regulatory communications	Pre-approved by WDNR	1	\$	9,985.00	\$	9,985.00	\$	193.50	\$	-	\$ 193.50	\$	9,791.50
9	Additional work	Pre-approved by WDNR	1	\$	14,567.50	\$	14,567.50	\$	-	\$	-	\$-	\$	14,567.50
				2023 get To	otal	\$	231,281.10	\$	2,506.90	\$	-	\$ 2,506.90	\$	228,774.20